TEST NAME: EE.1 Exponents
TEST ID: 754746
GRADE: 08 - Eighth Grade
SUBJECT: Mathematics
TEST CATEGORY: School Assessment
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Student:
Class:

Date:
1. A teacher wrote the expression shown on the board.
(77 x 7"y’

Which expression, when cubed, is equivalent to 735, 543 ?

A ;)
B 49

c 720
D Tz?

2. What is the simplified form of the expression below?

z'}*_ 53

o

b2

[¥5]

o o w >
(RN

o
a2

3. R R . f 1\-]- o
Which number is equivalent to[_ A3 gnda
5 @@

4
8

16
96

oo w>
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4. What is the value of the expression 872 x 832

6.

7.

A

64

A -
—12
b
B. —12
2
C.
f
2
D.

Which expression is equivalent tOZUS 5 202?

420
6-20
20*
20°

oo w>

PR
What is the value of[ 35}_?

._'I'.l
A 3
16
B. °¢
16
c. 3
2
D. &
4
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8. Which inequality is true?

A g8 1
3
B. &% 1
.q
= }32:000
1 1
c. 1.
37 7 32,000
D. 1 1
32,000~ 37

9. Which expression is equivalent t°1 15 sl 12 q

A 11?‘
B 1110
C. 22?‘
D 2210

10. Yuri’s solution to evaluate4|:5(2 + 3 2)3:| — (5 — T)(8 — 12)is shown below.

step 1:4] 5(5)% + 67| - (5 - T8 - 12)

Step 2:4[5(10) + 12] — (—2)(—4)

Step 3:4(50 + 12) — (—2)(—4)

Step 4:4(62) — 8
Step 5:248 _ &

Step 6: 240

Which statement about Yuri’s solution is correct?

A Yuri first made a mistake in Step 1.
B. Yurifirst made a mistake in Step 2.
C. VYuri first made a mistake in Step 4.
D. Yuri’s solution is correct.

11. Which expression is equivalent to (26 . 22)2?

A 216
B 22,4-
C. 416
D 464-
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12. Which expression is equivalent to-3 - -10?

A ?EI
B ?13
C. ?1:1-
D ?30

13. Which is the greatest quantity?

14. What is the value of —4%* 4777

~ )
B[z —z(—1]
© B
D(—B}ljl(

A B4
B. 1
64
c. 1
54
D. —&4
15. I.-" 3‘\2
What is| £ | written in simplest form?
L10°)
A 1
10,000
B. 1
100
C. 100
D. 10,000

16.

A 25—10

B
C. g4
D
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17. Which exponential form below does not have a value of 128?

AT

B 2x4

C. 93,42

D. 94,53
18. |-23}3

19.

A 2‘-'5
5)
B. ;19
3
C. (—6)6
D. (—6}9
Which expression is equivalent to?_lj 7
A ?3
B. ?ID
C. -J,-EIJ
D. ?T-'j

20. Which is equivalent toﬁ—lq

21.

A _36
B. 12
C. 1
36
D. |
12

Which expression is equivalent togoo—z-?
A 1
30°
600~
30~
1
~ 600°
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22. Which expression is equivalent to (62)3?

A 65
B. g°
c. 123

23. What is the exponential form of;; = 37 3 37 = g x q'?

A nEqS
B ?’ngg
C. 2nx3g
D. 3mx1g

24. Which expression is equivalent tog 12 . g-l-q

A 93
B 98
C. gllfi
D g-I-S

A 10
B. 12
C. 16
D. 18
26. . . . . 34
Which expression is equivalentto _ 2 ?
372 x 3%
A 1
31
B. 1
36
c. 32
p. 34
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27. . L . 12
Which expression is equivalent to(q ﬁ} ?

12

8

L

o o w >
Lnh Lk
s

L
[

28. Which expression is equivalent to (& ><23'4} ?
3
A —
51
B- —
12
c
1z
b 1
21

29. Which value is equivalent to (4%)(473)?

A
16
"4
C.
1
4
D.
1
1a
30. . N . 511,
Which expression is equivalent to a
s
A 5t
B. 5f
C jll-:'
D ji':'
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31. Which is equivalent to 4

A

32. Which of the following is equivalent to] 6 _43 647

A

33.

34.

B
C.
D

64

-
= =

| S I )
- g
LA

1\30|._. N~ N

81
27

_3_)

3
Which is equivalent to 3~ , 9 ?
1

35

-5
Which expression is equivalent to 2_4 ?
2
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35. Which expression is equivalent to(q i 32'}_1-;

=2
A g2
B. 1
2x 3
S {2x3Y
D. 2 .

A3|]

B
C. 39
D

37. Which expression is equivalent to?S & ?j q
A ?S

B ?13

D 4913

38. Which expression is equivalent to 68 - 64?

A 62
B. 62
c. 14
D. 12

39 Which choice is equivalent to 1
27
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40. . - . gls
Which expression is equivalent to™ _?

P
A 53
B. EIIZI
C. 62[!
D. 5.‘-5
1. Fopimis?
Without using any negative exponents, whatis| ' | in simplified form?
| ID)
A 10
o8
B 16
10°
C. 1
7% x 102
D 76x 10?
42. Which number representsgal-_g—}_j
A 9—12
B. g
C gf-‘
D 912
43. Which expression is equivalent t°6_3 9
A LBl
6 & 6
B. (—6)(—6)(—6)
C' _1 _1 _1 x _1 b4 _1 e _1
BT BT
D (BU3)3X3N3X3)
44. What is the value of 53 + 5?
A 3
B. 10
C. 25
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45. , L : ek
Which expression is equivalentto =_?

2
A 312
B 38
c. 34
D. 33
46. (2-4)%x2-5
Which of these is equivalent to T?
A 2—19
B. 1
27
c. 1
2
D. 23

47. Which choice is equivalent to 52 X 5_3 x 5?

A
1
5
B. 1
C.
o
D.
25
7
8 Which is equivalent to 2_5 ?
P
A 12
5 112
C. 22
b, 512
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49. What is the value of 25 =+ 2°?

A1
3
B.
p
C.Iq_

50. What is the value of the expression (82) + (83)?

A 78
B. 1

=
i

4 3
51. Which is equivalent to 10 x 107 x 10°
10° '

i
107!
10°
10*

o o w2

52. . o : 6. qay . [ 2°
Which expression is equivalent to (47%-4%) + > ?
AL o
42

B. 1 +23
424

C. L_i_zz
42

D. 1 +22
424
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53. A cube has a volume °f(|:| 8:.-;}3cubic centimeters. What is the volume of the cube expressed as a fraction?

A ﬂcubic centimeters
125

B. Ecubic centimeters
215

C. 3cubic centimeters
512

D. 312

cubic centimeters

129

54. Which choice is equivalent to 43 X 4

by
B. 1
4
c. 1
4
"4
%5. Which number is equivalent toLD};?
(10)°
AL
10®
B. 1
10,000
C. 10,000

56. Ernie is planning to buy a computer and his friend advised him to get one with a RAM size of, “megabytes.

Which is equivalent to “megabytes?

A 18 megabytes
B. 81 megabytes
C. 256 megabytes
D. 512 megabytes

_4_)
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57. What is the value of the expression (33)(24)(3_4)(2_3)?

A —
&)

B- —
3

c

D,

3

58. Which value is equivalent to 2 7

3

x5
A 1
5
B. 1
25
c. 1
125
D. 1
623

59. Which value is equivalent to %(23 x 27H?

A 12
B. i
16
c. 1
2
D. 1

60. Cybil worked on a problem which required her to simplify the expression- 3 . ~3 Her result was~ & What
value is equivalent to- 64

A 12
B. 32
C. 36
D. 64
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61. Which expression is equivalent t03—4- q

A

B.

| = | =
a | e b |
[P S S

1
3
G ) G

(=3)=3)-3)-3)

62. Which number is closest in value to the expression below?

Lhn

;10
A
B. §
40
c. 1
20
D. 3
7

63. Which expression is equivalent to 23 X 22?

A 22
B. 26
c. 45

64. What is the value of (273)(42)(271)?

A 732
B. _16
c. 1
D. 4

A 1
]
B. 1
27
c. 1
g
D. |
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66. What is the value of4—2-;

A 1
8
B. 1
16
c. 1
16
D. 1
8

67. Which expression is equivalent togli e S-I- 2 8?

A SD
B 819
C. EED
D 860

68. Which expression is equivalent to4—27

A Ll
a8
($)(=2)
c. Wi .

G e g
y.ELEh PR

D (===

69. 1: 4:}3

[s9)
H(p
]
==
e

h

D. ;437

70. Ten billion divided by which value below results in a quotient of 1000?

C. lCIS
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71. Which of the following statements is correct?

A 3-1_3-332
B. 3-3_3-133
C. 34_3232
D. 36_3-2323-2

72. Which expression is equivalent to}3 3 4104

A 518
B. 4130
C. gl8
D 613['
73. q b
What is the value of the expression = 2% 9
a4
S
16
B.

74. Which of the following is equivalent to g

407
A sﬁﬂ
B. 1
5[.71}
5-72
5@4]

A 1
25
B. 1
3
C. 5
D. 4
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76.
A 52
B. 53
C. 59
77. . . . 713
Which number is equivalent to' ?
A ?—23
B. ?—?'
C. ?T-‘
D. ?23
78. |f(_3)j - (_3)2 e (_3)1 what is the value of x?
A 3
B. 7
C. 10
D. 25

79. What is the value of 4_3 X 45?

80.

¢ 16

A 32
B. 48
C. 64
D. 128

Which expression is equivalent to 56 + 57%

3,

What is the value of the expression (23)(43)(2_4)?
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81. Which expression is equivalent toy—3

1 1
A s e

k] 2
B. E5¥-3

1 1 1 i 1
Co Zmpigog -

S G TR Sk

D (DDEDEDED)

82. Which expression is equivalent to 572 % 527

A 9510
5 510
c. 53
D. 253

83. . L . gls
Which expression is equivalent to® _?
SJ
A 15
B. 112
C. gj
D. 812
84. . . . . 1
Which expression is equivalent to —?
o4
A {31}“
B. {S_Z}H
2 0
8 X8
D. M 0
g 7 K8
85. Whi L . 712
ich expression is equivalentto= _ 4
Az
A 14
B. 19
C. ~4
D. 4%
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86. Which expression is equivalent to 0.23 X 0.27?

A 0.210
B. 0.221
c. 0.410
p. 0.4%1

87. What is the value ofg 2q

A 11
B. 18
C. 81
D. 92

88. Which choice is equivalent to (372)(971)(33)?

A

27
B.

E:
C. 1
D.

27

89. Which exponential form is equivalentto; + 4w g w hw hx b= b x b7
A HJEJJ
B ajlﬁj
C. 3ax5h
D. 3bx3a
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90

" What is the value of (2_3:”:2_2] 7

A L1
El
B. 1
2
C.2
D. 4

2_?

91. Which expression has a value between 0 and 1?

%2 \Which expression is equivalent to 63“ ?

93.

A 3B

22
a

B. 17
32

c. 3f
3

D_ w—3
-

A

w3

(615}15
B. 3
6_”} . E."-__“
c. 5 :
6° + 6°
D. ﬁm . 6]H

436

o o w2

424

30
Which expression is equivalent to‘l'_?

40

4190

EE.1 Exponents

Page 22 of 37

a schoolnet



% Which expression is equivalent to 83 . 3—1 ?

A 8+8+8+ —8- —8

B. ] ]
Be Qe 8 8' 2
© (8+8+8)+(—8+ —8)

{3+3+3}-(%+%)

95. What is 14 expressed as a decimal to the nearest hundredth?

-3

0.57
0.75
1.33
1.75

OO wep

96. Mrs. Jones asked her satudents tozwrite an equivalent numerical
expression to (27%-37%)7+(272-37)". Which of these responses is correct?

A 2°

B. 1 . 1
2 35

c. 27537

D. 2—18_3—13

97. Which expression is equivalent to the square ofi"l

256"
A 4—9
B. _1—3
C. 4—6
D. 4—4-
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98. Dividing an integer by3 2is the same as performing which of the following computations?
A dividing byl
@

B. dividing by 6
C. multiplying by.1
9

D. multiplying by 6

99. Which expression is equivalent to (43)4 + 43?

A 42
B. 4%
c. 49
p. 410

A 54
B. 5
c. 5
p. 5ll

101. Which expression is equivalent to 107 q
10714

10’

10'2

10

1029

o0 w >

102. Which expression is equivalent toBS _ 3-!- 7

ADE

B
C. 32
D
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103. (—6)" e

A _36
B -12
C. 12
D. 38
104.
(y
T
(5%
A o mid
5/
B. /78
.
C. (_35}6

105. What is the value of3 05

A 0
B.

C. 3
D. 30

106. . . . . 1
Which expression is equivalent to a?
A (48)77
_5y—4

5 (272
C. ((3x2)2\7

32
D gt -1

[ g3 x8° ]
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107. What is the value of 75 = 7%?

A -7

-] |

108. Mary Ann’s solution to evaluate3[14 o 5}2 +209 - 8}3 —(T+5%4 - Ijis shown below.

Step 1:39y% + 2(1)° — (12)(2)
Step 2:3(81) + 2(3) — 24

Step 3:243 4+ 6 — 24

Step 4: 225

Which statement about Mary Ann’s solution is true?
A Mary Ann made the first mistake in Step 1.

B. Mary Ann made the first mistake in Step 2.

C. Mary Ann made the first mistake in Step 3.

D. Mary Ann’s solution is correct.

109. Which expression is equivalent tog_g 3¢ ngq

A gﬂ
B 919
C. 919
D) 965

110. . g2
What is the valueof __= ___7?
3 e 39
"0
B.
1
21
C.
1
2
D. 1
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111 Which of the following is equivalent to?~ %%,
911 .

oo ® >
SO
I

112. Which expression is equivalent to 42 <+ 48?

c. 474
p. 476

113.
Which expression does not have the value of —— 7?

[5.‘:—}—1

114. Which expression has a solution of 64?
A 28 x 22
B. 23 x 22
c. 23 x23
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115. Which numerical expression is equivalent to 272 x 2737

A

116

OO0 wep

32

Bd

foreres)
* Which number is equivalent to(2)3[§ﬁ}_(3}3 9
\ i

4
16
72
96

117. Which of the following is equivalent t°1 0 % m-l- o 103 5 m—jq

A

B
C.
D

10°
10°
10’
1013

118. Which expression is equivalent tol 56 15 3q

A

B
C.
D

1

[ =]
-t
LhLh

_ = )
L Ly
(PRI ]

119. What is the value of 3_2 x 3?

A

W=

o =

27
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120. Which expression is equivalent to 34 x 3

A

B.

C.

D.

121.

2

122. Which expression is equivalent to 510?

A

B.

C.

D.

123. Which expression is equivalent to (_3)4 X (_3)2?

A

B.

C.

55 X 52

510 X 51
15 5
20 2

5
5

+5
+5

(73)%
(73)8
(9)8

_2_)
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124.

125.

126.

127.

2 2
|" f o2 -‘H'l_
What is; L :' . written as a fraction in simplest form?
Sl
A 1
64
B. 1
8
c. 3
16
D. 3
4
Which value of x makes the following equation true?

=1
A 0
B. 1
C. 2
D. 3

Multiplying an integer by_11is the same as performing which computation below?
42

dividing by 4

dividing by 16

multiplying by 8

multiplying by 16

OO0 wep

116
Which expression is equivalent to~ o
: L
A 34-
B. 3 12
C. 320
D. 3 64
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128. 67
Simplify 2.
ﬁl
A f:i_
6
B
-
6
C -
17
6
D 27

129. Which exponential form is equivalent tog .. @ - & =< s 3¢ jr 3 1 3¢ 7
A 38wt
B 3% 4m
C. g3xpt
D 8% x 4m

130. Which expression is equivalent toﬁli_ 53'547
2
A 6‘]
B 6163
7
C. 18‘]
D 18 168

1 \Which expression is equivalent to 2?“‘ .9 1 2

A 518
B. 48
c 5 80
b. 4 80
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132. which expression is equivalent tow 7

7-7-9-9
A Gy
(7-9)°
B. 8°
79y
C. (58°
(7-9
D. (5-8°
(7-9)*

133. What is the value of 4% = 4727

A

1

16
B. 1

F]
c. 2
D. 8

134. Which value is equivalent to 3 33 .1 0aq

A 0
B. 125

C. 216

D. 1,944

135. RS LR L

Which number is equivalent to g 1

[
-]

oo w >
| SN (]
[
F———

[
()

136. Which expression is equivalent to (22)3 X 2_2?

B 24
C. 23
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tend
137 What is[3‘+ ?
. 6/

A 23
1206

B. 125

216

c. 123

6

D 623

6

&
138. Which value is equivalent tol

2

2

[
(3]

oo ® >
[ S S
M lad

b
ot
==

139. Which of the following represents_1 w _lusing exponential notation?
16 8

5 1
Gl ==
A 1

g
B. 1

3
C. 3
D. 9

141. Which number is equivalent to 323 a

5

A 1
=1

B.

WO am | e s
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142. Simplify the expression below.

52x 5%
55

C. 125

D. 625

143. Which expression is equivalent to 117*x11%

A 1217%
B. 1173
c. 11*
D. 121%

144. What is the value of (30)3?

A0
B. 1
c. 3

145. Which value is a simplified form ofiq

2

oo w >
Lid
=
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24
148. Which expression is equivalent to'l'_-j
7!
4

oo w>
1gd =

147. Which expression is equivalent to—34

A

B.

Fod | bt b |
I,ul.—xu:-l.—a
|

(2)=3)
D (=2)(-2)-2)

L]

148. Which expression is equivalent to 4_3 X 46?
A (4 x 3)(4 x6)
B. (4+ 3)(4+6)
C. 4+4+4
D. 4 x4 x4

. . . . . 3
149 Which numerical expression is equivalent to (4% x4x3%

A 412
B 413
Cc. 4%¥x3
D. 41%x3

150. Which statement is true?
A s2o(6- 3%) <-14
B 82— (-92+ 2) > (-13)°
C 72— (£-10)>-102
D- 62— (-5 +1) < (-7)?
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Fa
=

151. Which expression is equivalent to -,
2
()"
® 2
2 4
Xy
1
2I1y4
1
2 (xy)”

&
152, . . o
Which choice is equivalent to oz ?

A o4
B. g
c. 10
b 9l6

[

153.

>
|
| =
iy
o
il
=

O w
w A
L |
2R
= e
(]
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154 Which is equivalent to 1 ?
a1

972 x 971

>

373 x 371

w

c. 33x3
9 x 372

o

155. Which choice is equivalent to (32)0?
A0
B. 1
C. 6
D. 9
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